FINISHED DIMENSIONS

Width: 3cm (1.1in) /4 cm (1.6 in)
Length: 5.5 cm (2.2in) /6 cm (2.4 in)
MATERIALS

Hook Size: 2.1 mm /3.5 mm

Yarn Weight: Light Fingering / Aran

Darning Needle

Optional: Beads
YARDAGE

Regular: 3.25 m
Large: 4.30 m

STITCHES USED

CROCHET TERMINOLOGY: CANADA/US
ch: chain

slip knot

sl st: slip stitch

st: stitch

sc: single crochet

hdc: half-double crochet

dc: double crochet

BLO: back loop only
NOTES

=  This pattern comes in two sizes: regular
and large. The variation in size is based on
changes to yarn weight and not the pattern
itself. The larger earring makes it easier to
add decorative beads

= |f you wish to add beading, you will need to
string the beads onto the yarn before
starting to crochet




If you want to add beads, string 4 of them onto your yarn before starting.

ROW 1: slip knot, chain 13 and turn, sk 3, 1sc into next 10 chains — 10 sc

After the first row, the rest of the piece is worked in BLO.

ROW 2:ch 1, turn, 1sc 9 times — 9 sc

Going back along the other side of the same loops in Row 1 that Row 2 was worked into:
ROW 3: ch 3, turn, 1sc, 1dc, 1dc, 1hdc, 1hdc, 1sc 3 times, 2dc — 10 st

Add beads in Row 4 by pulling them down to the piece after stitches 2, 4, 6 and 8.

ROW 4: ch 1, turn, work into Row 3, 1sc 8 times — 8 sc

ROW 5: ch 3, turn, work into the other side of Row 3, 1sc, 1dc, 1dc, 1hdc, 1hdc, 1sc, 1sc, 2dc — 9 st
ROW 6: ch 1, turn, work into Row 5, 1sc 7 times, dec —7 sc

ROW 7: ch 3, turn, work into Row 5, 1sc, 1dc, 1dc, 1hdc, 1hdc, 1sc, 2dc — 8 st

ROW 8: ch 1, turn, work into Row 7, 1sc 6 times — 6 sc

ROW 9: ch 3, turn, work into Row 7, 1sc, 1dc, 1dc, 1hdc, 1hdc, 2dc— 7 st

Cut yarn leaving a 10 cm (4 in) tail, thread yarn through the sides of rows 1, 2, 4, 6, 8 and 9. Pull tight and tie.

Like the Right Wing, if you want to add beads, string 4 of them onto your yarn before starting.
ROW 1: slip knot, chain 13 and turn, sk 3, 1sc into next 10 chains — 10 sc

After the first row, the rest of the piece is worked in BLO.

ROW 2: ch 2, turn, 2dc, 1sc 3 times, 1hdc, 1hdc, 1dc, 1dc— 10 st

ROW 3: ch 3, turn, work into Row 1, 1sc 9 times — 9 sc

ROW 4: ch 2, turn, work into Row 3, 2dc, 1sc, 1sc, 1hdc, 1hdc, 1dc, 1dc —9 st

Add beads in Row 5 by pulling them down to the piece before stitches 1, 3, 5 and 7.

ROW 5: ch 3, turn, work into the other side of Row 3, 1sc 8 times — 8 sc

ROW 6: ch 2, turn, work into Row 5, 2dc, 1sc, 1hdc, 1hdc, 1dc, 1dc — 8 st




ROW 8: ch 2, turn, work into Row 7, 2dc, 1hdc, 1hdc, 1dc, 1dc — 7 st
ROW 9: ch 3, turn, work into Row 7, 1sc 6 times — 6 sc
Cut yarn leaving a 10 cm (4 in) tail, thread yarn through the sides of rows 1, 3, 5, 7 and 9. Pull tight and tie.

Once finished and all the ends are sewed in, you can attach the wings onto the earrings.




